\ .
\05\53(\0&\ reaeli rsiopa)
et
S /\L Lot
\ AN -2% =
L+ |
335@\‘%\)(\@&0\&(\ .
_W/& S \ l
© = -2 12w
nw) = YT & :(g 5
) ™ -4 w =
= €
R
f&) = ¥ Kzs&t—m)- %Qc-zn-\))
PN
+L P | 4+ -1 + 2
2 4 o 1,
& - L-P@J\x\c — e ol en ‘F-a«amum%
- +% in—1% (
Okkcklo. &V Toorerseie. § =7 ke (L=
\r g
-\kT l AT
—o g (e we s gli-e ) -
-\vg
( 2
. &\—H)k)  0cs! L*Wl(
A { O < £ \

-~ d %\CSM\ e oL orsignad )M






. = 2. W \
L -
T TE> Z\i (Zn-1)®

20 ¢
T o =
\ L”Ln—ﬂ(o - A0

Boskan ORPON L nocn o
() =% 1 0] med fuldor

ON ‘cn\z Ayt AR T g OO L
AN

NS OO LR \K—(X) — KO\O\— o \(,05 Y _*O\LCQS”LX) \7' A%

Y
N
2 C A 2
§\+®— L 30,07 an midwens da
\ |
Ao = L) = <g)k9ﬂ>
WRI*E
+ 09
Mm A{’ = L /
. G O\ sl () cs ke ¢
® j M/
15 — NN -z
“ | 7 e T
e £60 =x 1 T ) 0y

He)= 6,002 0= = o g csl@n-y
\

s 5
fD\ID\(‘. 3 —-.:C;CC_C%X



PRE N TY B Gt

| ~ e xk=o o)
‘E\(O) = %LL) = 0O

"¢ 0 - -

X S A W ‘no

L~ (_(X) =N ng\/\ \Mg u" \QS‘\(\\(\ \AX {a\\m, \L(\)S(\ \7
AR N1 Al ok + lop BN Hx
FO =0 o bu=0, = =
—v £ = acshpk

O\ = = (\\Q(}\ L\.DE){\\ .

{0 =0 gec g

=0 £(X)z ox+b

@
FO\Y“ o~n=O \ \ N _— \(\0\\)0\ oo . .

A0 sakk S N

e, W0 ekulien © () = 0ces pn +sio ok
() = - ARSOPR T op s
L@ =0 o ©=0
— o () = PR
V=0 g cspl=o — '\u_:b—li

n=1T1

Kaskhn &K

\W



() = <& o e%d\%c\lc%iwm

L
~AL\YTUK L - V1o
R L L RS DL LY
- LL('_oth] L
(I 5 ]

( Qz_n—\)vx)cx L g (Za-1)TTX ]
= s T S = — = O =
Q_&Q\ cC i 2 (21 TC L ;

_
L=

Y)TTx

; -
Normalecade. e%er\f:\x\\gk&d\o”‘- \S }‘: s =

e (353) =0 fE=FO=0

\\—+
A (-3 )TX

E%m%m\(.\t\@r N <Y
-
) | . _ L bin \ _L = 1
ot X=X Y g0 () (L—x) = (=) o 2 3 X
(.
, \ O
A N

Yios ke Fo% Fu = Save

~N A~ ~
£ & Lo s;'a\-t—\o



\
‘\' QX)Z :f? X’L_\,Lﬁ'z_
s 0lkgw) = ‘:k xcjtx Q) - ak = ﬁj* 9(x)
f, % 5y, %9 = Tyeg*9
0, - U\O AR o o> O
% X
\'iso %0\*' %\9 - %m'\n(dk,\o)
@0\ = % (—O\)G\)V /X/("M“) | %t’b)\o)j /x/t"m‘}‘(a\,b),mfﬁ(a,b)>
Wk
P+ W
TR

L = 2w- F K\—ws %LO,L)>

) - o (
o by = T s L) )

e i
\%&Qcoskc\\t ){'XHJC)({ re )c\‘tf‘
- m e
{ " _ ’L _k_ = _}S
ey d) = flovemg) s 5
+00 . ) /L-\—(N . _ s . o
X\%m\ = | o) e = gl &UM)L dw
=-O0Q o




(0= cem (- )T

Eﬂer‘w\r&zm :

O C?)G\QU\U;—\O”QF




